S AHRAIE D
ot

Al £ 0 & AHES & Al

& NG HHE HEHOIIS Jlet RF(&3/HIIS)
ool WY MBHDIS HelAE 29 CERL
SA - ZE - BRA(20) - IRA - B ofl et e HImE2
KAl & 16,417,040 19,046,824 N2,629,784
= 1,169,000
= 212,000
Al 15,036,040
OHNGHD B XBH MEHI|IS OB AR(EF/HII=S) 14,385,619 16,521,832 72,136,213
= 1,169,000
=S 212,000
Al 13,004,619
EE dEHIIZE H2AME 29 11,875,761 14,934,314 A3,058,553
SAI" HOIZ MelAlE 29 8,031,230 10,943,621 A2,912,391
201 er= 3| 9,700 141,700 132,000
01 AtR2t2l] 9,700 141,700 A132,000
Oget=ZH] 4,400
oFUXEEH 22 & FUEE I 2,100
=t 80,0003 x4 JH A +53] 1,600
-32E3 100,000 52 500
oZAIEHIIZ SEHeAE & SA=S &
HStAE E2S T M=
2,000&1,00082+15 2,000
oFUBANRE S+ HIE
150,000 2 300
Oo=23+¢ 5,000
o AEHIIZ SEXCIAME =X2E
SIHl Bl BN ¢
100,000& x10E 5] 5,000
Ol =H| 300
oFRUAARR HMESH Y AR P2
150,000 x2& 300
202 04t 3,200 3,680 480
01 =LHOHI 3,200 3,680 A480
OZAIEHDIZ2 SEXMCIAIE AESH 23
20,0002 x2EH+32 * 122 1,440
OAZAIE W SAS H2IAL LT 28
110,000 x2 & x2 2 23] 880
OZAEHIISSEMIAIL (A2, SASH
CIAIE) FRFT0I HE 2o HH (B3] S)
110,000 x2ZH 22 +23] 880
301 EtE N = 91,536 85,452 6,084
11 #AIAMHIXIZ S 3,000 3,000 0
OHPISXCIAE =EXg =2 dAX At
50,0002 x302*22 *13] 3,000
14 0Bt 2as 88,536 82,452 6,084
OZAIEHD |2 SeXelAlE 280tA &
OlMIEIE 15,000,000 * 14| 15,000
OHPISXCIAE ZAES Adl 22 73,536




2AM: AAE D
M OtMBlD) XS MEHD|IS J|Et RE(EA/HDIIZS)
ohel: MEY MEHDIS MelAE 29 COR
SN - FH . C(3) - MSAY - BAS Ofl bt e MimE=t)
o 01| 89,600& x2H x5 x44 5= 39,424
oFFLY 89,6003 x2H x44== 7,885
ocolzaR ALt
89,600& *1.5%x2% 48 12,903
cEYRRAY
89,600&! 1. 5%2H x 14! 3,764
o E| &4 5,000,000& %14 5,000
oBd& 4,560,000 14 4,560
307 21ZH0| & 3,733,166 3,733,166
05 OIZt2|EZ2 3,733,166 3,733,166
OSsAEF HIIES MelAl&((B10) 249
3,733,166,000& » 14! 3,733,166
308 AXIHHMSOIA 3,986,028 4,763,182 NTT7,154
13 SI2SHUSHE A NS AL HI 3,600,588 4,423,582 A822,994
OZANEHI IS SEXelAE /e 2H
3,600,588,000& * 14! 3,600,588
14 JIEtRE2 385,440 339,600 45,840
OA2NA HIIZ HE 223
10,000&%33,000&+1. 168 385,440
403 XIXIHMS K20 A 207,600 2,106,441 A 1,898,841
02 SIS0 UstAI=2E ! E A 207,600 2,106,441 A 1,898,841
OSANEHIIZ SEHINL TS 2
207,600,000 x 14! 207,600
SHZE HIIE2 MH2lAlE 29 887,452 817,730 69,722
201 LEt2AY| 598,452 526,670 71,782
01 AFR2t2lHl 382,352 301,650 80,702
Ogt=2H]| 359,452
SAAL CHOISA AL 242
4,070,000 201 A 8,140
SAZA DDINIEE g +22
153,320,000 & = 1A 153,320
os=HEHIIZ2 SEHMEIAIE Mot 2+
cl e =22 20,109,600 x 14! 20,110
oHEAIE F=H XIots & ol =EZAL
= 21,600
— XISk 4,500,000& 43| 18,000
- ol 900,000& *43| 3,600
SSOEHIIE BEHIAL BIIAAF =
== 10,800
U ENE 5,400, 00024 x20H 2+ 10,800
oXatE(MESS) HIIAM 242
481,580& * 10 & 482
o=ZEHDIE S HelAlE Zstd =
& 2 18,500,000 & +23| 37,000
o=EHIIE SEHMHeAE ARS 22
12,000,000& * 1A 12,000




2N

HE: OKMGID BXSH MEHI|IZ DBt RH(EAE/HIIS)
Ciel: ZB MBI M2AY 29 (ci9): @2
SA - ZB . O9(3) - HRAY - BaS Ofl ko e HlmS2
osUHEHIIZ SEXeAIE HEHII=
RAE =2 90,000
-8 - 28| 250,000& =180 45,000
—Xcltl 250,000 *180& 45,000
SHIIZ SX28 42
6,000,000 * 14! 6,000
Oul=t| 1,900
SE0IEHIIE BHeINL 2228 o
HESEH 7L 100,000& % 19H 1,900
ogxz 21,000
oUEHDIZ Hel Bt dxis
7,000,000& *33! 21,000
02 B22=2gH| 216,100 225,020 A8,920
OZ2322=2 & Al 66,100
SSO0IEHIIE BEHIANL &2 U 4
ot & 63,000,000 14| 63,000
osHEHIIS SEXMIAIL(A2) HE
2 BERa 20,0002 *5IH 2 100
CS0IEEDIS BEHIAL QEY, B4
s 23 250,000& =123 3,000
OH =zl 63,000
oAZAIE 7FHI 63,000,000& * 14! 63,000
OAIE &Y= XY 50,000
ocsUHEMHIIE SEHMEIAE | - B+
50,000,000 14! 50,000
OXter - dehy| 37,000
o HAXE 7FHI 12,000,000 3 14| 12,000
oHAXE =XAlZeltl
25,000,000 3 14 25,000
202 Ot 2,680 3,020 A340
01 =WHO4LI 2,680 3,020 A340
Os=sHEHDIZ2 SEXIAE 8 =0l
50,000 x2H x 1L« 12& 1,200
OsUHEHDIZ SEXM2IAIE EIIZA &3l
50,0003 x2H+63| 600
OHYIE ™M2lAIE HOoILE &8 & M8X A
Bl 110,000 *2F x2 2 23| 880
206 =6l 37,440 39,240 21,800
01 M=l 37,440 39,240 A1,800
OgdauZ R (2R L o)
27,0003 <6L*6 I A #4 3] x5 19,440
O=EM 7 12,0003 250 m* x6IH A 18,000
207 AR 48,880 48,800 80
01 A EFH| 48,880 48,800 80
OthitH HE MEES MM E A=
el 9 48,880,000 14 48,880




2N

& NG HHE HEHOIIS Jlet RF(&3/HIIS)
Sl RIBZ MEEHDIZ MY 29 (ci9): @2
SA - ZE - BRA(H) - NRAR - BES ofl et e HImE2
401 Al HIZ S OHbI 200,000 200,000
01 AlZ8| 198,560 198,560
OsHEHIIE SEXCAIE Y
200,000,0002%99.28/100 198,560
03 Al CHYI 1,440 1,440 0
Os0ZHIIZ SEH2AAE FH|
200,000,000& *0.72/100 1,440
CEAXS 2010 E 2 28,500 29,700 21,200
201 fer=23| 28,000 29,200 1,200
01 AtR2te|HI 28,000 29,200 1,200
Oget=EH| 18,000
oHJlE =& - 2EH|
200,000& 40& 8,000
oHJIZ HMclbl 250,000& 40& 10,000
Ogx= 10,000
oHllZ 28t = St
2,000,000 %52 10,000
202 04| 500 500
01 =LHoi bl 500 500
OZAXI% 2HOIONRIE & =tol
50,0002 x2H+53] 500
gE - EUHHEE =29 2,808,579 3,143,263 N\334,684
201 et=23y| 1,140,276 1,105,885 34,391
01 AtR2te|HI 156,333 109,989 46,344
Odgt=3=H| 101,633
cliEd 82= M
1,500,000 *14] 1,500
SARA BE o2 FH
2,500,000 *14! 2,500
oltd 28 =35 7Y 2,300
-HEES 3,000 «200H 600
— Mt 5,000&*100S Al 500
-23 2,000 «600H 1,200
cHIE 2 AEIHE A
8,800% *1000HK 880
cHES LM ++Z(B00 S 8N =)
692,400 x2)H 2% 162] 22,157
oXIgte BAE EBAL ==2(PH S 2404
&) 1,300,000& *42] 5,200
COIEMF XIS £FaY ORI 4
== 791, 1002 x 104 2+ 123 9,494
cZUEE ots 84| o8& +=
T2 180,600 x 104 2% 123 2,168
SOIEMRE SEHSII| HSUA 44
= 1,250,000& « 1 A+ 12 15,000




M
X ZH -
o=

chel:

HSHDIZ JIgt A= (EZ/HII2)

KH2 A& Dt
OLNBI BXSH A
detd IS MelAE 2

dEe

SA - ZB - S9(BA) - NRAY - BYS ol ko Ca HmES]
ofiE - FLHIHE HDIZ MelAN& F)I
AN 242 40,359,00024 14} 40,359
COIZNE B0IAE GEAA 242
74,80024+1CH 75
o284y 38,100
COIZMRE YEN FoEOIH AL
o 100,00021% 15 63! 9,000
COIENYE XY YSE 4
29,100,00024 14} 29,100
ouxtz 16,600
o2A11(380) 1,000,0002! 10| 10,000
cgmER(158) 660,00024%103] 6,600
2 2229 983,943 9%,8% A11,953
02222 2 HAl 646,311
CRIZNYE B4 AWK B3 olE
A2 2, 43021 %726 T $3652 646,311
ONSRHISTYI 171,374
oOIZINRE BAIRI2l S|
4,00024+1,000m 4,000
COIZEMRE HES HEHHAIAY R
z28Y 1,700,000 %174 A* 122 20,400
SOIZIIRIE ML S22
500, 00021 +9CH 4,500
oDIZINRE ALY SXI22
9,900,000 #14! 9,900
COIENYE ABLY U SHLH KA
2| 7.777,00024%14] 7,777
COISINRE KIGHBI S22 (20P)
1,300, 00024 %2CH 2,600
COISHIRE ABA FEZHI L BB =
% M 20,0002 ¥50m 6,000
COIZIIRE FIIA U 2HI| RNV
10,000,002 14! 10,000
COIENYE AHAL U HEM £ B
% 6,000, 00024 14] 6,000
oDIZINRE &E4 2% ¥ 3%t Mela|
sxzel 5,000,00021%27H 4 10,000
CRIENYE £ST 491 L R |
YRS 500, 00021 % 16CH 8,000
oYATY| L 220, 00021+ 10CH 2,200
SOIZMRE HBAAY ST B4
6,000, 00024 1CH 6,000
CHUNZE +21H L RH 2K 24
500,000 14} 500
CHUNBE HE4 NEZALS 81 o
J 2,500,002 14} 2,500
cHUYR ®S ZXI| |z
500,00024 14} 500




2N

& NG HHE HEHOIIS Jlet RF(&3/HIIS)
Sl RIBZ MEEHDIZ MY 29 (ci9): @2
SA - ZE - BRA(H) - NRAR - BES ofl et e HImE2
oOISMHEE MY & =2 S AIEE &
X2 30,000,000& *14! 30,000
cEUNEE MY & =2 S AMEE =
K2 20,000,000& x 14 20,000
COEMWYY FHIHN Y YARE 7Y
20,496,300 x 14 20,497
OXg - &9 166,258
olig - SEE S&Hl € YYX =74
146,258,000 * 14| 146,258
olig - SEE STl  LEA S SEX
g |2 20,000,000 * 14 20,000
202 04| 4,780 5,170 A390
01 2L 4,780 5,170 A390
OHPISXICIAE AN H2E BRE
o & HYIZE HHEX =l
110,000 «32 * 12 +33] 990
O=CIXEEH 22 HEHE &KX Hst
olE 110,000 «3S*32*13] 990
O30 LH3| F4
110,000 x2EH*x2 2 x13] 440
OF &=+ +EZA 22
50,0002 x 1 *12 %123 600
OMMNBE SYAE HBLE
110,000 x2& 22 23] 880
OBAS ey
110,0002 x2E * 12 %23 440
OgitdmoaEy g=f82
110,000 x2E * 12 %23 440
206 MH=H| 779,189 779,318 A129
01 MZHI 779,189 779,318 A129
OM=H & 4,500 %27 E+33] 365
OF54 Mol 2 HENY ©37 7Y
30,0002 105 300
ORIMHgd gds 7 (2s, W)
25,000 =12/ E4*1,5007H 37,500
Oy A2 F(2ts, W)
2,000,000& *14] 2,000
OFE= XMaldE 78
700,000,000 * 14 700,000
OFE$ L Xoks £TLAE S P(2
s, W) 10,000,000 * 14! 10,000
OFELHF JINE FYS 22 7Y
524,000 x14] 524
ot - ZUHEE dIINE | 28 &
N 223 ¢ 1,500,0002 %14 1,500
OllY - =8 21 7 (ets, 2U)
12,0008 %2, 250m’ 27,000
301 EtE NS 3,750 3,750 0




M NHEAIE L
& NG HHE HEHOIIS Jlet RF(&3/HIIS)
CHel: ZISE MEBHIIS HIAlE 29 (ol A2
SA - ZE - BR(8) - HRA - B ofl et e HImE2
11 "@AIAHIXIE S 3,750 3,750 0
OF2XZEAM?S e A& A
50,0003 x 15«5 3,750
307 elztol & 150,000 150,000
05 2ItRIE =3 150,000 150,000
OHUMWE F54 =K
12,500,000& x 12& 150,000
308 AtAIEHMSOIE 730,584 730,140 444
14 IIEtR8s 730,584 730,140 444
Oulle M=22<=
15,0002 +41,700=+1. 168 730,584
== SHEHDISHCAE 2+ 120,000 120,000
401 AlEHIZL SO 120,000 120,000
01 Al&H| 120,000 120,000
&e=E '501 HOISXCIAIE 24 SA
HAEH B 120,000,000 *14] 120,000
Held o & etd2te] 1,076,898 1,564,958 488,060
= 181,000
Al 895,898
Zletd HEd x=d 212,898 208,958 3,940
101 14| 88,600 86,435 2,165
04 JIZtN2Z2 XS 2+ 88,600 86,435 2,165
Olgd 201 &g 23,056
oS (0IXI| &Y SER)
219,321 x5 x4 & x33] 13,160
SEU(0I=D &Y SER)
219,321 x4 H+32+33] 7,8%
cABEEE 2,000,000 *14] 2,000
OLUSMHEE FHISXS LdAALS 61,692
o012 55,692
- (aE SE E2E), 958, 28
85,680 Hx5E 120 51,408
-us 85,6802 x1&8*50& 4,284
oMNBIEER 6,000,000 * 14 6,000
OCEUNEE 57 & 2FAcNES L
Iy 80,2403 x4 H 42«33 3,852
301 EtE N = 124,298 122,523 1,775
14 DBt 23 124,298 122,523 1,775
OHIISHMelAlE 2l ZAIZSHI(2HE) 124,298
Saub 89,6003 x3H 240! 64,512
oFFd 89,6003 *3H »525= 13,978
odsd 89,6003 x3E «65 * 150% 26,208
oE A=Y 2,700,000 +3% 8,100
oAREEE 11,500,000 * 14! 11,500




SN THEAIE DL
& XSt HHE HEHIIS Jlet RR(E3/HIIS)
el OHEE =4 Y orA e (Cte M)
SA - ZE - BRA(H) - NRAR - BES ofl et e HImE2
CHEEHEE Al 2 2= 250,000 1,356,000 1,106,000
401 AIEHIZ S OHYI 250,000 1,356,000 1,106,000
01 Al&HI 248,020 1,347,770 21,099,750
OtEEd a&+ XM2lAE 3
20,000,000 *98.92/100 19,784
Onsllegd B&+ HESSI! wH
200,000,0002%99.28/100 198,560
OEUMNEE SUider W
30,000,000& +98.92/100 29,676
03 Al 20HHI 1,980 8,230 26,250
OtEMEd aE+ XMlAE Y
20,000,000 «1.08/100 216
Onsllegd F&+ HESSI! wH
200,000,000& *0.72/100 1,440
OZUIEE ~oidet Wi
30,000,000 %1.08/100 324
FUHEY 54 614,000 0 614,000
= 181,000
Al 433,000
401 Al HIZL 201 614,000 0 614,000
= 181,000
Al 433,000
01 Al&H| 610,132 0 610,132
OZUgd =& 54
614,000,000 %99.37/100 610,132
= 181,000
Al 429,132
03 Al 20HHI 3,868 0 3,868
OZUHEE =2 S(0.63%)
3,868,000 14| 3,868
MEHIIZ M2l 25 1,432,960 22,560 1,410,400
= 988,000
< 212,000
Al 232,960
A2e|=AlE HE A 17,480 19,080 21,600
201 er23| 13,600 17,200 23,600
01 At2telt] 13,600 17,200 /3,600
Oggt=3H| 11,600
o3| AlE AHE At F2IEE3| izl 11,600
=Rt 80,0003 *157H A *42] 4,800
-E2= 3,000 500 +43] 6,000
-22AE= 200,000& %42 800
Oo=23+¢ 2,000
oPXNEE L FXAEAM 2o A
=g 100,000 x20H *13] 2,000




2A: KEAIED
HE: OKMGID BXSH MEHI|IZ DBt RH(EAE/HIIS)
T MEHIIS HelDle 1S (cis) 22
SA - ZB . O9(3) - HRAY - BaS Ofl ko e HlmS2
202 04d| 880 880
01 =LHO4 b 880 880
OMEBEEI & IG5t 29 2|2 &
9 110,000 *2E *43| 880
203 PRF=&Y| 1,000 1,000
03 Al Z=ZIHSZAY| 1,000 1,000
02030 RHAS|=AM HE AE =&
1,000,000 14! 1,000
308 AXISHMSOIA 2,000 2,000
13 BII2SOICHEH B A X LAE AL 2,000 2,000
OOSRIMIACHR HLHE #Y a2 3
= 2,000,000 14 2,000
HEE sHEHIIZ2 H2lAIZ(0Y) A7 &X 722,480 3,480 719,000
= 503,000
& 108,000
Al 111,480
201 LBH2AY| 2,880 2,880
01 AtR2eltl 2,880 2,880
Oger=2| 2,880
osHEHIIZ2 SEHMIAE MRER =
8l 43| =l 2,880
—s=0 80,0003 *3JH 2 +23 480
-EE= 3,000 x200 2«33 1,800
-3 EE 200,000& »32| 600
202 Ot 600 600
01 =WOdbI 600 600
OH=2E '501 ZHDI2 SEHeAE d-s
flet & ol 50,000 *3H*43] 600
401 A& B2 20HY| 719,000 0 719,000
= 503,000
& 108,000
Al 108,000
01 Al&] 714,471 0 714,471
ONEE SOEHDIS SSHIAL (1)
SRAX 719,000,0002+99.37/100 714,471
= 503,000
& 108,000
Al 103,471
03 Al 2CHYI 4,529 0 4,529
ONEE sHEMHDIS ZEHelAIZ (=)
ARFAEXI(0.63%) 4,529,000 14 4,529
HEZ sHEHIIZ M2lAd(a2) A7 &X 693,000 0 693,000
= 485,000
& 104,000




2A: KEAIED
HE: OKMGID BXSH MEHI|IZ DBt RH(EAE/HIIS)
Sl MEHOIZ Hele 1S (el Mg
SA - B - O9(3H) - HSEAIY - BES Ofl ab ot e HlmE2
Al 104,000
401 A& HIZ 201 693,000 0 693,000
= 485,000
& 104,000
Al 104,000
01 AlEHI 688,635 0 688,635
ONEBE SOEHDIS BEH2IAL(A2)
ARAX 693,000,0002%99.37/100 683,635
= 485,000
& 104,000
Al 99,635
03 Al 0HYI 4,365 0 4,365
ONEE sHEHDIS SEAMIAIE (L2
AMFEXI(0.63%) 4,365,000& * 14! 4,365
HAEHHHI(AFKAIL DN (DIEHDIE 223,086 243,992 220,906
oIz 2| 86,735 114,120 A27,385
ol 2| 86,735 114,120 A27,385
101 21244l 86,735 114,120 N27,385
02 JIEt8 24 52,746 71,914 219,168
OFJAZE AMAUA2RsE T2 22,408
ox& 9,927 6 +57 Al 2H+ 12 55% 22,408
OFAZE 52222E 11,012
ox=d(E) 79,7973 +3H 23 5,506
o=&d(&U) 79,797 3A+3H 23 5,506
OBAAE I SY 19,326
oH(2E)
3,309 *x3H +8BA| 2+3652*1/3 9,663
o= (L)
3,3002 *3H +8A| 2F*3652 *1/3 9,663
03 SR (RIAHL) 22X B4 33,989 42,206 A8,217
OAIt2I22+Y 17,850
SELES
16,527 2 x3H*20A| 2t 123+ 150% 17,850
Oy 16,139
oUIYE FHE L =T I
224 1343 +2H 2 897
clHEE ¢4 224 1343 +2H 62 2,690
o&EF HIISXE 2l
224, 1343 x23H x 282 12,552
Jl2&l 136,351 129,872 6,479
J|=2Z| 136,351 129,872 6,479
201 B2 AY| 123,11 118,214 4,897
01 AtR2elt] 37,397 32,500 4,897




SA R

SZHI(RFAIE ) (DIEH/IIEH

Zu: gme
=els Jl=dsl (S &)
SA - B - O9(3H) - HSEAIY - BES Ofl ab ot e HlmE2
SRS
18,520,000 & * 14! 18,520
Oll=H| SHH & 2,500,000 *14] 2,500
O=4H| SHH & 16,377,000 & * 14| 16,377
02 33244l 85,714 85,714 0
OZ2223 & HMA SHEAHL
85,714,000 3 * 14! 85,714
202 44| 8,440 6,858 1,582
01 =2LHO4] 8,440 6,858 1,582
SA2Y S 4 8,440,0002 *14] 8,440
203 P =TI 4,800 4,800
M 2GR FALI 4,800 4,800
OXHEAIEIH30H) 400,000 128 4,800
MHRES (AL (BHE/HIIZ) 1,808,335 2,281,000 ANAT2,665
LHENHH K= 1,808,335 2,281,000 AN472,665
LHEHH K= 1,808,335 2,206,000 A397,665
TR IISHEZ 1,808,335 2,206,000 A397,665
01 2I138&EZ2 1,808,335 2,206,000 A397,665
OCLEEE=HIASXNAFLIXRIIZ &
£= 1,733,335
cHII=Z g2 10%
25,0003 *40,000E *10% 100,000
oEEHEAHZ 1,633,335, 000& * 14 1,633,335
OZAEHD |2 SEM2AIYE FHRSG =0
N2 HES
25,0003 +30,000=*10% 75,000




